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Gamma matching

* Distance x < 70mm && Distance_y < 70mm
— Between MC True and Reco(Reconstruction)
— 5gamma on Csl

(w=)
(&

2

2

2

-t
o

- Entries 389798

- B Mean 0.1401
— — RM 0.3471
__ 300_— /
B 250
= - 0.86( 1-0.14)
B 200 Rroper gamma matching
= 150
= 100
:1 A I N U T N T U N T U A T O M AN l ' :
0 2 4 6 8 10 12 -

5O_IllllllllllIlllllllllllllllllllllllllll

#Matched track

o

02 04 06 08 1 12 14 16 18 2



PiO pairing check

We can know whether piOs are matched
properly or not.

— Using MotherID of gammas
— MotherlID(piO 1,g1) == MotherID(pi0 1,g2) &&
— MotherID(pi0_2,g1) == MotherID(pi0_2,g2)

* PiO, g are variables in Reco.
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Pi0 momentum (properly paired piO)
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True Pi0 energy [Mg)d

PiO energy (properly paired piO)
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MotherID(piO_1,g1) != MotherID(pi0O_1,g2)
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Dalitz_12_ 23
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MotherID(piO_1,g1) != MotherlD(pi0O_1,g2) ||
MotherlD(pi0_2,g1) '= MotherlD(pi0_2,92)



Pi0 momentum (mis-paire
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True PiO energy [MeV]
PiOE

Pi0 energy
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eld4g(5+1) IsKL3piO==1 MC additional
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